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A) Offwer — Giufiu &maﬁ]m&m LGRS

B)  dlyeyss Guaden — PHeNe: 2 sfien LpemwTes Fpeveu @eorid
C) Ggré | . —  fflw cuews spevar Gestd |

D) @wiead — Qpired) gey.

Which of the following is incorrectly paired ?

A) Friesian —_— Large sized breed

B)  Brown Swiss —_ Oldest dairy breed

C} ‘Elersey — Smallest dairy breed

D) Guernsey — Jersey Island.

SpsactoL. eunhdlubisend seuedl :

s (A) : srillfmhe Gy eow) Afssa Sigudnaiomer (peanD.

sryewid (R) : @l Gobs Curermaud Lréd 2 pugdhiie adi almena Goamen.
FGp QarResiueren @Pli@ser aped sflurer allamLewg CaibCs0ss :

A)  (A) vhnd (R) Grean@id afl, Coepd (R) erstiugy (A) aflpe eflurer aflerédeaid

B) (A) whoid (R) Gyesor@®in e, Gueud (R) ererug (A) elpe sfuier efendaindve
C)  {A) af), yemed (R) eumy |

D)  (A) whmid (R} GyeBin seuny.

Consider the following statements :

Assertion (A) : Weahing of calf is advantageous proceaure.

Reason (R) Death of calf at calving or later causing no adverse effect on milk .
'  production. '

Now select your answer according to the coding scheme givén below :
A) Both (A) and (R) are true and (R) is the correct explanatibn of {A)

B) Both {A) and (R} are true, but (R} is not the correct explanation of (A)

-C) (A} is true, but (R] is false

- D) Both (A} and (R) are false.
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3. 86 tﬂqﬁa a@enniumedlé e earer &CrTLIg@IMiNg e Seney enwdCymrdigmble
A) 048 ‘ B) . 065
C) 014 ‘ D) 074,
The carotenoid content of one gram of Buffalo milk in microgram is
L A) 0-48 B) 0-65
C) 014 . | D 074,
4. urdler 2 eophlocou sanhilyss 2_gan sEral
A emeGmSit B)  Hp sereduc
C) st ' o D) HeogurevGams.
. lnstrulmcnt used to find out the freezing point of milk is
A)  Lactometer B)  Colortmeter
C)  Ammeter - D) Cryoscope.
5. e@menwturedlé o efen iy @@aﬂé}& o_snen/Ols 182 &
A) 4748 :  'B) '45'50
C) 3950 | D 427
Surface tension of Buffalo milk in dynes/cm? is
A) 4748 | B) 4550
C) 39-50 ' . - D) 42-17.
6. uré wrdfae 2 uBuraliu@ssiu®d HherGeai g6
A} Oerigele } B)  umtwedler
)  oBumgesn _ D}  @\miby.
The commor;tpreservative usedrin milk samples is
A) Phenolphthalein B) Formailn |

C) lodine. D) Iron.
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A)  250% B) 150% L

C) 3-40% | D) 520%.

The fat contant of the Friesian cow milk is

A 2:50% | B) 150%

C)  340% D) 520%.

ug b e gdlflest Gl ctre e

A), 3854¢g ‘ B) i854¢g

C)  4854g D) 28-54 .

The curd tension of cow milk is.

A) 3854¢g - B) 1854¢g

C) 4854g - D) 2854g

Qaruit peplies Garpuiiianer seralll aeeueray Lre afés CoiebGn 2
A) 566 B) 10:75 8.0

C) 90 D) 12860,

The measure of milk taken in butyrometer tc; determine fat test by Gerber's test

is

A 5ml B) 10-75 ml

Cc) 9ml | | D) 12ml

urelles 2 efren Qampliy HpeHesor. apenn apeuld s BlulLGSDE:

A) -Qge'm_rr@ (DD B)  oLisdHé @@uﬁ@
C)  dleyGumevGams D) Culgrealut (pemp.
Fat in milk can be determined by

Al Kjeldahl method B)  Specific gravity

C) Cryoscope , D)  Mojonnier method.
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11. sriuemer pawrsd Cordr@ SiCrlert 2 Gaumsssd g wicorgudifl g
oL g (g SHe 2 gab Cargevet ergl ?

A BenGre Cemgemen B) Sesé SHeuly Cargenen
C) Ceundev-LiQprevar Cargeames ‘ D) S Gyl uweu@sgb Camgeneot.

The name of the test used to determine the éblllty of microorganisms to utilize
citrate as carbon source is

A) Indole test B) Methy} red tesf '

C)  Voges-Proskauer test D) Citrate utilization test.
12, ureve geaanted fGersena Qelouges Crrésbh eebie ?

A)  umew GHOFLL 2 ShesT e ST HHH

B) - ureder Caeeuupp Qummsiaet Lé‘fTGﬁ§W eTest &L HlBen

Cl  umedlér 2 afien BetiUL S8 HETL B

D} UTés 2 eHoremr 2 &h&HSN eTenr H&T_MNsHe.

What is the use of alcohol test for milk ?

A) Suitability of the milk for heat treatments

B) Detect the contaminants

C) Detect the adulteration

D) Suitability of the rnilk for consumption.
13, unelléy selLTe Geavsuatl FHURSS S Hieteaouiifl ag 2

A &8 rQursmen dersuwrGeor

B) @mé@grr@’asnd’segefu Glyree

C)  emidlerr ey Cu

D) v GG rCanasev eSléalesCudlueien.

What is the microorganism responsible for bitter taste of the milk ?

A) Pseudomonas syncyanea 1) Micrococcus roéeué

C} Sarcina {utea D} Streplococecus liquefaciens.

[2001] ~ [zo)
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14. . 'urm'{)“ ngalld Ggrdibermassld GO Qslausbe uwETURSSILED B0 epalp s&d)

erbg ol ehdl 2
A)  Cprgurs GO Qsbgd B) gyrel
C) GLTes srpn D) BHesaf Geuliub.

Which form of heat accounts for about 80% of ehergy used in dairy plants ?
| A) Direct fire B)  Steam
C) Hot air | D) Coal heat.
15. urreﬁls'u 2 &6 Seney J@bdleaiu L HOUSTLGETE -Gl6r auenTpenn eTeiTas 7
A) 2508 /HCar B) 5084 /ACar
C) 750 &/FAGer D} 100 8.8 ./EGeur.
What is the maximum residue limit of albendazole in milk ? |
A} 25 mg/kg B) 50 mg/kg .
C} 75 mg/kg D) 100 mg/kg.

16, 2. emrey Qummer sevlu sEIY éLL,gaglsisfqu [ 1976 } sbpmriig e HILULESHIL L.
( standardized ) urelles Giwée Gouctnqu GQempli 8 HHlen yerTay aretet 2

A) 56 % B} 4:5%
C) 3:5% D) 3:0%.

According to PFA Rules, 1976 what should be the fat percentage of standardized

milk in Tamil Nadu ?
A) 55% . B} -45%
C) 3-5% D) 3:0%.

17, o el Gurpel seluL sEUY elLgdldug ( 1976 ) sBlpHTLG S Oamagls

BHHULLL UTedd @mée Ceusdmgu Qarupliubn Sl Gur@siae oeney aeie 2
A)  85% B 97%
C)  87% D) 77%.
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According to PFA Rules, 1976 what should be the SNF percentage of skimmed
milk in Tamil Nadu ?~ ’

A) 8-5% B 9 7%

C) 8-7% D}y 77%.

urellés QEruiidars QUTHL G &aT&ESIHL weansE Lt aerar 2

A) . Gureveendl (pemp : B) dAlidenr sjeney

C) Mswaor aldapep | D) Qpu@sic sjenay.

The SNF in milk can be calculated by |

A) Polenske method _ : B)  Kirschner value

C) Richmoﬁd formulae D) Reichert value.

uréy rweralPad Corgaendes LueTLED G\&m‘e'\mﬂemmé;&:m'_m,

A) Lﬂemrrﬂg,;.ﬂs&r : | B}  coumfwmeug enan(

C) GQuiehs &8amer® D) Gumiinrflud QuinrieCerL..
In determining the titration value of milk the indicator used is

A) Phenolphthalein B}  Formaldehyde

'C)  Mercuric chloride D) Potassium permanganate.

ureller sriruGel seluLSdlenarsd safoT Bl LWETLEHD &y e

A)  Gogmevredis oyfleud | B). Qaruiéy ybleud

C)  Quifls @@mnmq@ | o D) Quigfé gleamay®.
The reagent used to detect carbonate adulteration in milk is

A} Rosalic acid B)  Gerber's acid

C} . Ferric chloride | D)  Mercuric chloride.

ureller  Hlesdlphs usellL paoolloo oflu  SpseRTL  abg  sryes
uwesu@elne) 1 '

A)  eowlr Serré

B) p-oplGrmileneré o Gsmgub TsCsT unéiﬁ(BumL.
<) _ p-@mﬁ@&g@mwmq@

D) | 24 TECHmenami i gged -p-umevGLi,



9 DOOD
The reagent used to detect the efficiency of pasteurization is
A)  amido black |
'B)  p-nitrophenyl disodium orthophosphate
C}  p-methyl chloride
D)  orthohydrogen-p-phosphate,
22. &pssancbpst ashere MBR Carganen LuaTUED ?
A) e mietor gl setamnen .ermﬁk.
B)  uré ugefilL fleversw sybh
: C}‘ Ly sddlener seradl
D) Qerguieer gh LCurgsilans gemall..
The MBR test is used for
A) assessing the probable microbial quality of milk
ﬁ] efficiency of pasteurization test
C) protein estimation
D)  estimating SNF.
23.  sraGawd Geb Caradu Guib
A) UEh &L _ B} a&fmpri&r
C) GarubysgTT | D) a&gdhueunr.
Kangeyam originated from
A) Punjab B)  Karnataka
'C)  Coimbatore D) Kathiawar.
24. usburelle Syblew &ITS &6 NDWIT 6T )
A) 50 —6-0 B) 55 -—59

¢

C) 69-—70 o D) 64—66.

. ’ { Turn over




DOOD | | 10
The pH of normal fresh cow milk varies from
A) 5-0 to 6-0 B) 55 to 59
C} 69to70 D) 64 to66.
25. ureller @EpCamav Carsamin g Ghened igame secorBHill&s 9..561]6.!5} |
A)  Cumges Cerpemen ’ B)  umiQeurt. G&ng,as)suw
C) flamitédlenrdr Garsement ) D) ersGLTSLILT. |
Glucose added to milk can be detected by
A)  lodine test " B) Barfoed's test
C) Resorcinol test D) Lac.torneter.
26. SpsacuL aps pememdifl ure QurEpLeeian Cemb L& am) ursefiuréssfe
@wiueg ahsge sTLHib 7 ‘ ‘
A} Gsrelldoumriid - B)  ersCLrCuéléeen
C) ywoaeader D) eoowslrrGarsans.
Which is the indicator organism for faecal contamination of dairy foods ?
A) Coliform B) Lactobacillus
C) Brucella i)) Micrococci.
27.  uné Lep e @&L&ﬁé} LS 2 Hhe Cleuliblae &g ?
A) 24°C B) -5°C
Q) 26°C | D) 28°C.
What is the desirable temperature of dried milk for storage ?
A)  24°C | B} -5°C
C) 26°C ' D) 28°C.
28. y.eré1. saluEb weplld uTéd SpsTanid Geutu SeTalhe Lﬁu@ﬁ,g&u@&ﬂe&mg.
A) 135°C - 150°C B) 150°C -~ 165°C

C} 100°C - 115°C D) 165°C — 180°C.



11 -  poop
UHT processing involves heat treatment of milk at
A)  135°C-150°C B] 150°C - 165°C
C) = 100°C - 115°C- ‘ D) 165°C - 180°C.
29, &LEL% =AY urrs’n@émg)uﬁ\e'\a 2 UGUTsLUDSSILGD e weop CsmHidpub,
.%{Dé)eo cuemsléy
A) Daeyd bned euriihsHg
' B). Heabd appd 6oOpbes
C) | QhDoe @)psss sngqugl
D) peLgopid CeuduBss WLLUTSS).

Mq:rrnx_‘branc‘ technology is a latest technology used in dairy industry and is a

i
highly

A) . energy efficient method B) .enérgy deficient method
C)  energy losing method D) impractical method.

30. GereLsre wgealss Gpmi ahs ursefurarsd ghudHing 7
A el QLG rersaey HGamsmiur

B)  eu QG renése Lgdbé’&wéalﬂwn

C) Qarflsflumduediub LGurglerey

Dy F;'sfut_' CpGLramésev Yy Gluflay.

Summer mastitis is caused by

A) Streptococcus agalactiae B) Streptococcus dysagalactiae

C) jCorynebactertum pyogenes D) Streptococcus uberls.
31. ef@é»&ngmgsugbgﬁlgb sl Crreanw s Hiu 2 sayb 9y liey eré; ?

A Aadig | B) e oyl

C)  emeuLmev ey D} qg@hr’r@aﬂm ETT

[ Turn over



DOOD 12

Which one éf the following tests is usect to detect typhoid ?
A) CFT | B)  Anton test
C)  Widal test | o D) Tuberculin test.

32. Ths uMBLTET YEHeTe ‘ieaTmL_TéHededr aaip pésLOUTHT 2 HaTsGHng 7
A) | Syenuit ghléveven | B) Gueffedlui
C) sroGurblarden | g D) Dyasmi.
Aflatoxin is produced by which of the following moulids ?
A) Agpergillus B)  Penicillium
C) Salmonella D)  Mucor.

33. ‘(Ba.ns\‘ﬂunﬁfn?' ursefurdsmen Uflsel uaL@ssd NysGus 2m_sd g ?
A) Ousareardl ysmi | B) gflelr &af ST Sy
C}  poveors quiledTL ebt Byt DI @0$s yenit.
Specific media used for isolation of coliform is
A) MacConkey agar B)  Triple su-gar fron’ a.gar. |
C) Muller—l—linton agar D) Bléod agar.

34. urelett mesoggitt sbubSLTET SHTHOS Lujr’rg‘,g, ef@&,crs'm_ abg Qamiflé mILLD

2 5eFIpg 2
A) ursCLryy Cagen ' B) &g
C}  BC_ayer D) Gmn@mw@gmm@&msﬁn.

Micrabial quality of milk can be improved by
A}  Bactofugation - B) Churning

C}  Agitation D) Homogenisation,

7Y
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35, Gurerl aemuBb QBrHyl iy uraGurmeiis LLETLGHSILED meson goydiifles eft

A) eursGLrGudléseven uehCaflsay & eV LG ramrdsey C\giwmieovey

B} eréQr@uilaesy vaCslsay & aflysQamrev ré

C) v OWlGLrerssen CarCGoriilvey & eflysSenmeavmé

D)  ersCGLrGudldevev wevGaflsav & yBrmSIGumGermuméiweflur.
In Yoghurt preparation the starter culture organisms used are
A)  Lactobacillus bulgaricus & Streptococcus thermophilus

B)  Lactobacillus bulgaricus & Leuconostoc

C) Streptococcus thermophilus & Leuconostoc

D) . Lactobacillus bulgaricus & Propionobacteria.

36. gauuorssUUlL urelld 2 eter QETWIL BlEIsEHle SieTey

A) 40 smw&ymest B)

C) 2 eowwdymen -D)

25 enwsymest

30 emw&ywedT.

Size of the fat globules of the homogenised milk is

A) 40 micron B)

C) 2 mircron - D)
37. urdlér sllevgaeteaoullen ey

A)  014% | B)

C) 0:2% D)

The normal acidity of the milk s

Al 014% B)

C) 02% D)

25 micron

30 micron.

0:19%

0:5%.

0-19%

0-5%.

38. urellé @hs Qprd Eeeraueanpre Lrdv@erGeedt sflure Qauiul Gerarg.

A) eowloen B)

C) A&Bev , D)

e &G s

urs@ui_GL e,

[ Turn over



DOOD ' 14
Absence of which enzyme indica'tes the efficiency of pasteurisation ?
A) -Amylase ' B) Lactase -
C) Reductase : D} Phosphatase.

39. é:s&r@ seorm pe fburé urers DTMIEUSDHHITET HITE 66y

A) S pmisel B) 3 prisaer

C) 4 prisen D} 2 prliser.
Colostrum changes to norraal milk after .......... et of calving.
A) 5 days B) 3days

C) 4days D) 2 days.

40, EpsdTiapnet  ahe  nerwer  Qurgest Hfh  pERoanILGSSMSDES
2 UGuralILGEDE ?

Ay Gemguid HedCaL. B} Gemguwid Cui L G-
C]’ Cemgquid enagrécoens® D) Gemguid smiuGesi.
Which of the following chemicals is used for cream neutfalization ?
A) Sodium silicate B) Sodium metasilicate
C) Sodium hydroxide D}  Sodium carbonate.
41.  Lyet Gurei® uredld @HlLg
A)  Oa&ruy 1-5% eev.eren.a 8:5% B)  Gerapii 1:5% eret eredr.eri 9%
C} Q@smpiiy 3:5% aev.erer.all 85% D) Oemugly 3% erev.eresr.erls 9%.
Double toned milk contains
A)  Fat 1-5% SNF 85% B) Fat 1:5% SNF 9%
C) Fat 3:-5% SNF 85% D) Fat 3% SNF 9%.
42. Speileubpiet S&LTIH syb Bif b ashe wEGD Qelwiu@Hns ?
A Afp B) dev

C)  mevdfin ' D) Ompi.

|



15 DOOD
Agnmiark grading is done for '
A} Cream B}  Cheese
C) lce cream ‘ D)  Ghee.
43,  uréd usLILDSSISN e g&ﬂé’&uu@.}&) EleToT it 65 ?
A) . owGsTGusiyflub g yuteGardlay
B)  cowGasrGusigfub cmyrgunieSevrdle
C} CavéG Qudlavey oiflGmilléveverv
D) | sirédleveur uﬁrraa;@.
In pasteurization which microorganism has to be destroyed ?
A) Mycobacterium tuberculosis
B) Mycobacterium paratuberculosis
C) Lactobacillus acidophillus
D)  Coxiella burnetii. -
14.  &Epeipaeupdles ag spae @ wr @ 2
A)  smanileumds B)  guGsme
C)  uienf ' D)  aruGawi.
Which is a dairy breed ?
A} Sahiwal * B}  Ongole
C) Bargur D) Kangeyam.

45.  ee&Symy CuiTlanen asaa‘m@ﬁu;.é»aa' gL sTHGh  Cealupleeud  Hrew  BeTeyb
ST 6LIELIET Y 7 '
A). 387°C e 10 prisEsse B) 5°C-7°C 1 presanrss
e)! 5°C-7°C 10 garrﬁ.&@és@ | D} 37°Ceév 2 gbrrsmsfré,@l.
Psychrotrophs can be detected by incubating at
Al 37°C for 10 days B) 5°C-7°C for 1 day

C) 5°C - 7°C for 10 days - D) 37°C for 2 days.

[2001 ] { Turn over
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46. elwrdlyeier wguielmha Quplul L urels .e&. geteno aaTe 7
A) arpgadown | B) sblegpaiann
C) @efliy D)  essuy.
Milk from infected udder has a pH which is
A) alkaline B) acidic
<) sweet D}  sour.
47. et Qedndfer @QJL'JLIL'D' eTiu(eug)
A Hrausden Qeutiib B)  uefdesr Qeuliuid
C)  arpher Qeulnip . D) #lgdledt Qeultiid.
The sensiblg heat of water is .also known as
A] "~ heat of liquid | B}  heat of ice
C)  heat of alr o ‘D) heat olf solid.
48. umbefles sraIiLED ‘essoTanet Bl g alurés 2 uCurdiugi
A} coyen Came B) OulGymen
C) s D) Owggermev.
An economizer in botler is the heater which utilizes
A) Fiue gas , B)  Petrol
_ C)  Diesel ‘ D)  Methanol.
49. Goré erediug '
A) | Galg Gefiumerd B) eariueerav sl -
C) asrrr'rusmspwfuf_ Q_(és\)l'l'&:l.'b D) &rrr'rusmme‘rpn'._@&.e‘m.
Coke is
A) a drink B} carbonized coai
c) carbonizéd metal - | D) carbonized gas.
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51.

52.

53.
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Wiluresn 12 eusma QuriliyadlCiyedon . a1 2_enphlemen |
A)  112-1°C | B) 121-1°C
C) 101-1°C D) 131-1°C.
Freezing point of Freon 12 is
A) 112-1°C B} 121-1°C
C) 101-1°C D) 131:1°C.
abs BEl 9_1‘_1L:4éa&61'1 eTeYDY) WIHMID UDSEH&HE CUEISITEIg) ?
A)  srévdlwbd B) smédlud whpid ureuLyey

C)  srédlub oHnd SSHSHTED D} g$sBTEb Lﬁ(b@jfu-@mé:sufﬂu.ﬂb.

Structural functions of bone & teeth are performed by

A) Calcium | B) Célcium & Phosphorus
C) Calcium & Zinc D) Zinc & Magnesium.
Spacor_supPler spedrdledt L@Elwre @by 2 eieng.

A)  affCGur@Cenm Nei B) AGumiGeraitesr

C) emawlerGarumeeniwelt - D) oeulLibler A.

Iron is a part of

A)  Haemoglobin B) Riboflavin

C) . Cyanocobalamine D) Vitamin A.

emsul Libleir A LsbLTeld Gebeurpre 2 efreng |

A)  &Gymigen . " B) GBLnGamiyré

C) etsreugyTeL D)  eaiGasraradlCuyné.

In cow milk Vitamin A is present as

" A) Carotene B)  Tocopherol

C) Ergosterol D) Ergocalciferol.

| { Turn over
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54. MMPO &%t ufibgieoriug adsemet I Li LT jerene sur@hd Curg widHu
Srdn udley Qealdlmesh sudub 7

A} 75,000 L méE adlawrs B} 50,000 Mt (n&@ gj,g‘)]ssmrrres

C) 10,000 L (Bh&E blswrs D)  75.000 'L (x40 @oneurs.

MMPO prescrtbés central plant r.'eglstratic.)n with capacities of

A)  over 75,000 litres B) over 50,000 litres

Q) ~ over 10,000 litres D) . below 75,000 litres.

55. uné eaesfflcy QEseb Seudluore ‘gqt&(‘ésm'rr gﬁ@mméeﬁ

A)  Slevedt phoud dlevem e

B} e Gurélen whmw SHCwrenesmes

C)  Sevee wdmibd 18 HCurepneot e

D) . 8HlGuremanedt topmib Slemerey yevestest.

Essential amino ac’ids in whey are

A) Cysteine and Cystine | B)  Tyrosine and Methionine

C) Cysteine a.and Methionine D) Methionine and Phenyl alanine.
56. urellév sreoTiufid Seuflunret hGearr opblevi

A} Heviesst whmd HevemL. 6t |

B) dleveds nhnb SHBureen e

C) oo Grméles whnid Vleneter ojevestesr |

D)  SHCwrelen inpmyd e Crymdles.

Essential amino acids in milk are

A) Cysieine and Cystine

3) Cysteine and Methionine

C)  Tyrosine and Phenyl alanine

D) Meethionine and Tﬁosine.



19 POOD |
57. 1990 b geomgeé 2 ws syrefl ure cuentédl alldlad Bieighe ecoueta e
a»sadr&.eQL-uuU_ng 9
A} 4% E B) 3%
C} 1-5% _ D}y 1%.
What was the world’s average annual growthlrate of milk production in 1990 ?
A 4% ' B) 3%
Cl 15% ) D} 1%.
58. dpafipdlurale ureGumg 2 LGurslLGSSULIGD aldlsh
A)  34% | B) 54%
C) 414% | D) 64%.
Percentage consumption of milk powder in eastern region in India is
A) 34% BJ 54%
C) 41-4% D) 64%.
59. urellern 2 ephloe &pacnLahhié oamp sao@ilysHe. 2 g ?
| A) Qarguy Bestulferer urd Caisge
B} umellé 2 efrem Qamaglisnu f&@é@
C)  gevorewlit Gargme
D)  umes ua it Gargze.
Freezing point test can detect which one of the following items in milk ?
A) Addition of skim milk | B)  Removal of fat
C) Addit'ion of water D)  Addition of milk powder.
60. uabuTedley s efien srevdlub / urduurev alldgsh
A) 1-00 B) 120

C) 1-80 D) 2:00.

| {2001 ] | Turn over



DOOD 20
The calcium/phosphorus ratio in cow milk is
A} 1-00 B) ‘1-20
Cl 180 D) 2:00,
61. emeowiLTele 2 aien smeudlub / uneiuuqaiﬁ allflgb
A) 100 | . B) 120
C.} - 1-80 ' D)y 2-00.
The calcium / phosphorus r'étio in buffalo milk is |
A) 1-00 : B) 1-:20
C) 1-80 ) : D}y  2-00.

62. meogmlt ufGsrseatsans ungliblemerdiée (WP &eLLLL geu GurBsiaeen wrHif

aR&HEDEUTE GenDhs L&D ashs‘usﬂéq T R&sIUL. Ceuctsr(Bib 7
A) 50 dlgmd B) 100 diprd
C) 125 dlgmd , D} 120 &ymid.

What is the minimal sample size of semifinished ice products should be taken

for microbiological analysis ?
A} 50¢g ' B) 100g
C) 125 g D)y 120 g

63. (T30 Gpalley 2_aier LiTeo HOST HONG GNPUTHISTETST 6Teot ,le.w e slIURES Ths
apeop 2 uCuTsUGHDE 7 ( e G Caomeasnw yies Celdlpg. Gepur@erer
. & Copameumw yiss Gleiwrg ).

A)  GrreaGarige wrdfl s@ssd apep
' B) srlen Glawdu@d penp
C)  uamier guglusnulid wrdfl e@sse wpeom

D) GriGamligeé wrlfl efsse (peop wHNId 2 @otey (peD.
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| Wh!ch of the following methods is used to qualitatively classify \iyhether a unit is
_ good or defective ? { A good unit meets the requirements of a specification, while

dpfective unit is one that does not )

A} In-line sampling method
B) - Automatic sampling method
' C)  Attribute sampling method

D)  Both in-line and automatic sampling methods.

64. urereoLs sSLgld Coéd UeHOE 2 eer mdgifsaer ey Osiw ohs
ugdidles Gimhea wrdfl aGss CactoHn ? '

Al urereLs slglld CGud ugd

B) utenmelé sligullen 2 61 LGS

c) LITEUTemL_& S igullest aiy;mrrs&r 2.61 UGH

D}  eadar ugdldd Guhaib.

Which part of the cheese is sampied for investigating surface flora ?

A) Surface layer of the cheese B) Inner layer of the cheese |

C)  Deep inncr layer of the cheese = D)  All layers of the cheese.

65. urrsumrré]rﬂas@m SEPL_WITEND &7 &1 %mm&@gﬂrp@ @iy Gurg el e

gaeudsamen g7 Ceuam@b 7

L

i,

111.

.

S{EOLLITEN e Biciegl GB)

oeGlevesen 2 fewurerflen Quui wpme waad sdes wrflio
Geha ure OuUDLULLE Sidey wrGoLy GLsdle @(I_T;[i’)@.
FRSSILLL g et elleurn

ure spsalulL Cadl, sToe Sweg wroelld apbs LTRT SEeg
sl (B uredr eredTn afleuid '

HDENCUIDTL L. 68T QML WTETLD,
@eubpief
Ay &I B) &I
) LUI&IV , D) L I&IL
[@001] (1201} [ Turn over




DOOD 22
What is the information that should be furnisiied for identification of the milk

samples by a laboratory ?
I Identification number or mark

II.  Name and address of the license holder by whom the milk was
consigned, or by whom it was being delivered or on whose premises

the sample was taken
JII.  Date of milking and whether morning or evening or mixed milk

IV. Identification of the dairy animal.

Of these
A) 1&11 B) I1 & II1
C) I I & IV _ D) LIO&IIL

66. apeumesTaubmieT el o GeThr eJwrdl 2
A) =bemip ( cow pox ) B) ume smlgse
C)  wesdlesd | © D) @) SenendEid.
Which one of the ;ollowing is a contagious disease ?
A} Cow pox | B) Milk fever

C) Constipation ' D}  All of these.

67. dpsco. ahs CauduQurger usiLGs sbplLDSHDE poTUBITaD, aefidl
L& SagqusTeeyd urd wrdflow) usiuGsd @b @ Lo QTR
Qe doeveyld LwesTIGEDG 2

Ay yGyrGerrmumen B) GQuriLrdlud e @GrmeGLL
C) Gemgud el : D) Ouigfle @lamarQ.

'
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Which one of the following chemical preservatives is used as more environment

friendly preservative, biodegradable and for transportation of milk samples at

'~ ambient temperatures ?
A) - Br.onopol B) . Potassium dichromate
C) - Seodium azide D) Mercuric chloride.
68. ggduaﬂrﬂﬂs&r amri_efi Qeutiubleney eredrent ? v
A) l— 23°C pger - 29°C | ' B) - .123°C wae — 129°C
C) _' - 10°C @g)d) - 19°C , D) - 3°C @upse — 9°C.
Hardening temperature for Ice cream is
A)  -23°Cto-29°C ) B} -123°Cto-129°C
C} '-10°Cto-19°C D) -3°Cto-9°C.
69. gdug,]rﬁ&esr QuogleuTs: 2 (HGD ST ST SHTTEOID 7
A)  dlsnugurer sv@LNemeuanit B} GaprGorsenenGeedt LpoTHEGemD
C) | ©oDhs L era D)  odle eb.erev.redr.erool! emey.
Slow melting quality of ice cream is due to
A) excessive stabilizer B)  inadequate homogenization
C) low solids content D) high MSNF content.
70. syer fedldn cumss® @ 2-STiyeoDd 556
A) ‘emGLg v . - B) GeLmt dev
C)  GaibGuwibufl. fav D) evgeLmar feu.
An example for hard variety cheese is
A) Cottage cheese = - B}  Cheddar cheese
C) ‘ C[a'membert cheese - D) . Stilton cheese.
71. QoL Felletrt Qlanlu FySeenend WIS 2
M eo% B)  50%
C) 75% D) 85%.
A { Turn over
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72.

73.

74.

75.

Warm curing humidity of cheddar cheese is

Al 60% : B) 50%

C) 75% | D) 85%.

Qarqpuny  Fedlu  urdlle  uTd  ALLCUIEGLSST s 245
ST EHursasiul Hererg).

A) 1:4 B} 1:5

C)- 1:6 ' 7 D} 1:3.

Concentration of milk solids in skimmed milk products is

A) 1:4 . B) 1:5

C). 1:6 ) D) 1:3. .

@iy Cerdgm FLiu@ipdu ureldr HHDY BTGHT .o Gemmedleveumioss
QlBés Geuc(b. 7 '

A) 40-0% | - B).. 26:0%

C) 8:0% _ D) 31:0%.

Sweetened condensed 'mﬂk contains not less than ....... TR per cc;nt cane
sugar. ' '

A) 40-0% B) 26-0%

C) 8:0% o Dy 31-0%.

ureder Gadla ahas Hevenllds 2_sreng 2
A Gamfév g evGlume e B) | Qerdamié q.du@ur’ré_sin

C)  wreéllgeort g evQiurgesT _ D) saireodti g enGlLme &,

Milk casein exists in which state of dispersion ?

A) . Coarse dispersion B)  Colloidal disperéion
C)  Molecular dispersion ' D) Water dispersion.
urre&éo_@aarr@uq ahed seramwda o steng, 2

A iléy Ger euml L B) el @er gyulie

C)  Ltp Glsndoysen S D) Oardemid geublufeges,
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&

ER
Mi_lk fats are present in which emulsion ?

A)  Oilin water - B)  Water fn dit
C)  True solution | D) Colloidal di.Qper'slt_Jn.
76. unaﬂsﬁjr Qm'uufn sThGD Spenet SMlu e seyb G&rrg.aﬂcuf
A} a;sbehﬁgpﬁeb Gergerer ~ B) MBRT Gsrgenen
C) Merafleér Cargenen D) efeé Carpere.
Test Vtt‘b determine the heat stability of milk is .
A} Aleohol test | B) MBRT test
C) : Resazurin test(, D}  Acidity test.
77. uﬁaﬂs‘u o dien abs poLOUTGE gpevdlffic BTG ENEN 2 (HEUTEH SIS
2 effemgy ?
A) l.{ljgft{)\ B) Qemapiy
C) surrt‘r:('&:_'tra'm D) sr@H e uyshser, .
Which milk constituent is responsible for the sandmeSs: in Ice creani';?
A)  Protein o B) Fat
C) -Lactose g . D) Minerals.
78. umé mﬁrﬂm PopsdpeE sryeoinTeg
A)  AGUMICeraledr . B) osuCenm Gamureuber
C)  ssvaridé sufleod D) eogumbleir.
The colour of the whey is due to-
A) _ Riboflavin ) o ) B) Cyénocobalamlnc
C) Ascolrbic acid : D) . Thiamine. ..
79. 6 Qosmp Hour sCrMiyeNdebe ahpoer mmﬁ.u_ﬂla’ﬂ-- A qpovdsapeel
Sl d@ibd 2 N
Al 3 B) 1
c) 4 D 2 |
" . (1301) . [ Turn over



DOOD A, - 26
Number of rholeculc_:s of Vitamin A yielded by .lone molecule of alpha-carotene is
A) 3 - B) .1
) 4 | D) 2.

80. UV.gperev.-etr g Qarapiy tédu urd QueL.far ( Cyrerr 2 eyeeubss peannilid
surfisg ) erelludiedil g G sev ( yfleu somest )

A} 150 B) 850
c) 20 . D) 985.

As per BIS standards skimmed milk powder solubility index ( max ) ml for roller

dried powder is
A) 15-0 B) 850
o 20 | - D) 985.
81. @(Baarrugrr@sin &g sed e (g)é:ﬂ@un@sfr ?
A) gﬂﬁ ‘ . B) G eOTeOTIT
C) Gomeur D) &&en.
Base product for prcparalion of Gulab jamun is
7 A) Dahi B) Chhana
C) | Khoa , | -~ D) Chakka.
82. guum @L'mqbeﬁasmen F&sb Celagde 2 UCGUTH&HLLEHD g&rrmasrfo g 7
A)  &yge &b B) s e bleud
C)  fgwres sryb. | D)  dswrer oudeb.
For cleaning the rubber materials_ which chemical is used ?

A) Strong alkali B} Strong acid

C) W‘eak alkali D) Weak acid.



27
83. umb%m,&, Sl gdlen wédlu @dsCamet 7
A} i ulrrcs'u .Lrj)ug},éﬂeﬁuj AL QT Y=
B) QuUIEL semen 2 huhd Qe_vu’.nsugj;
C) .i 2_efegsi Lrey GlummLsefies Lﬁ)qgi?élemm CubLDdseug
! D) . Hymod yphsee L GD LT aPREGS.
) What was the main objective of Operation Flood ?
A) + Increase ‘milk productior;
B) : Produce products
C) Improve indigenous milk products
' D) Restrict milk consumption only in rufal areas.
84. eretig g 1N alflams sl | |
- Al Creyeie G e e Gl euaiGoesl Guri®
B) -~ Gpeyeré G if OL_cuelbioeir’. Guri(
! C) . Greyesér G difl @L@ﬁfﬂ!ﬁ]@&ms&r $Crm
D) Creyerd gré QeuetiGinaor’. Gumi(.
The full form of NDDB is
A) National Dental Deveclopment Board
B) 7 National Dairy Dc¢velopment Board
- C) National Dairy Diversification Bureau
. Dj National Drug Development Board.
85. @mc&mmmqm;‘& I &5 Bidl 2 g6l Qeiig ey ag ?
A) Caflu sl Hmey umey FR&ED WHHID 66 g 0.
B)  eredig g9
C) 6T60T 4. . BT, §0.
D) eTen.eriD . &1,

DOOD

I Turn over
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87.

88.

DOOD 28

Operation Flood III was financed by

A)  Indian Dairy Corporation and NDDB

B) NDDB
C} NDHI
D) SMC.

afleuréasid g@és NMH

A)  Gpegere Bévs Qapi® . B) GCreayoré Névé Qani®

C) Cumegerée apigm @ami@ - D) _(Bg;a#sm'\l blévs @@Qus&r-uﬂ.' _
NMH staﬁds for |

A) National Milk Herd : | . ‘ B)  National Milch Herd

C)  National Murrah Herd AD)V National Milk‘Hu'sbandry.
@bl adiey z%er’rsrr wrler QuL Crayest 6 ctoreooh dema |

A) 22 B) 180

C) 36 D) 18.

The number of State Federations in India is

A) 22 | B) 180

C) 36 ‘D 18

wrgf) Caafs LwesTLBS S 2 LSTEOIGMS GleulL [BeTD He&b Qeig Une
s aisg LR a@ée LuaTLSHS Gauaor@ib.

A) &H Gawg) ' B) el dwﬁgj ‘

C) o.copw eveudHE | D) e eiddl.

After thermal sterilization, the -sampling' equipment should be allowed

10 down before used for sampling.
A} warm ) B} cool
C) freeze . ' D)  dry.
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89. medor gt ufGergemensans ordfl a@ss sem arusdy ( &hnitiLw Seulublee
sflalugures  30° Qedvdluelles CelbldsiurL ) Ut . asane Gpiyid
( sflalugures, CS&L&&@L‘D_(BEUL'D ) Geblg g eeusbseumh 2 '

A) 14 preser | B) 7 mriser
C) 20 prise D} ‘ 25 prlsaf.

What is the storage time ( maximum time before examination ) of evaporated

milk samples ( stored at ambient, maximum 30°C ) taken for microbioclogical

' analysis ?
A) 14 days B) 7days-
C) 20 days D) = 25 days.

90. mpemgudli uflGsrgmenssrs wrdfl a@gs Cpri meowhesT fldsin L
' @pééﬂun_.rrg, s@meiibanfles 2 eter uTeme ( &HpOLD Qealuboa Haligurs
30° Qsddlueder CedlsaiL ) apsear Cryb ( sstugurs Calaegh Cryn )

Callg g emaidseih 2
A) 7 mprlsen B) 1 pmel
C) 10 mrl&eir D} 15 prlsefr.

What s the storage time { maximum time before examination ) of sterilized milk
samples in unopened container { stored at ambient, maximum 30°C ) taken for

microbtological analysis ?
A) 7 days B) 1 day
C) 10 days D) 15'days.

91. . gyt urﬂGs—n’gsmsmﬁs.rrsa 2_ooithg ( FIWLHE Umey ey i ) yrenen wrgfl a@&:@m
Gung ehs Qaiublamelie Cellpg amaisa Geua(fid 7

A) - 10° Qaadluen
B) 15° Qsévdlwen
C).  eppiyp Geutubene, siflsigurs 30° Qs dfludy

D) 25" wigevdlwen. -

: ‘ [i201] [ Turn over
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What is the storage temperature of dried milk samples should be taken for

microbiological analysis ?

A) 10°C

B) 15°C

C]T Ambient temperature. maximum 30°C ]
D 25°C.

92. MPN @peop Gaameans Qaran® enndps
A)  Qurgs urseflurTésmen saddle aRbser
B) QGarelluntpameren senSHElHHH -
C)  wmeul. HDID LLGHENE BT 6 TenesT eacoméaa‘ﬂ@g;éa
D) eeQemgyrils sawisg actatieas.
MPN method is conccrned. with
'A) Total bacterial count B) . Coliform count
C) Yeasts and mould count . D)  Psychrotrophic count.
93. eowslsrLrsadarsemear 2 (HeuTshGalg
A) urdeflur B) eeuyev
C)  weuL_ D)  uEhemesel.
Mycotoxins are produced by
A} Bacteria | B) Viruses
C) Yeasts ' D) Moulds,
94. @efluursg Hiflbs urener o L TEGoug 7 -
A)  eugpiGLraréaev el Cudlussrey
B} evGleruCGarsréaeay gy fluev
C) LB Clereveum YLITITL. 61V

D)  eowCasrursieflub gy iigCaurdlav.



95.

96,

97.

98.

31 DOOD
Sweet curdling defect in milk is mainly caused bv
A) Streptococcus liguefaciens B)  Staphylococcus aureus
C) Brucella abortus - D)}  Mycobacterium tuberculosis.
SevCamen@untael ergeofletr @mb@umg&&s&@gm@ FDUBHSLILLL G ?
A) L}FI'é’:lﬂl'ﬂLUﬂ'. . B)  mevi_
Cl  eveuyen | D) yeremgssmenmest.
Ascospores are related with reproduction of |
A) Bacteria - B)  Yeast
C) Virus _ D) Mould.
&l &ifller 2 e wrér Qlemgruilesr yemey
A) 20% - 25% B) 30% - 40%
C)  65% - 85% D) 85% - 90%.

Coffee cream contains milk fat

CA) 20% - 25% B) 30% - 40%

C).  65% - 85% D)  85% - 90%.
a‘;]rétb dfsaiuL. 2 ehs Geniubieme

A)  38°C | B a2°C

C) 32°C ' D) 60°C.
Satisfactory cream separation temperature is

A) 38°C B} 42°C

C) 32°C _ D) 60°C. |
NDDB-Jet1 sHGurengu gemeaui wir 2

Ay  Dr. Mrs. gfliirgruGLé

B}l Dr. ol @ifhwes

C) Dr. Gs. G&. @&

D) Guyréiflur &). erev. grGgmifé.

' [i201 ; [ Turn over
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Who is the present Chairperson of NDDB ?
A} Dr. Mrs. Amrita Patcll _ B} br. V. Kurleﬁ
C) Dr. K..K. Iyc D)  Prof. G. S. Rajorhic.

99. alfleuréed sme SUMUL | |
A)  @rs gevgflel Cor o uGrgel Bidd LOTTgyesT yeflwesr S
B)  winsf nq_ef—umﬂém'_ Carr %u@gqsﬁ Blévs y@gmgy e yesluedr eSlblGILL
C) Gsoid gevgNeL Cam oGyl Blévs (Qrmyyet yealusr SBGLL

D)  FepfGemim gevgfes Gar guGreed Mles LOTmgwst yeflue
" eOBIQIL L. |

SUMUL stands for

A} Surat District Co-operative Milk Pfoducer's Union Ltd.

B) Srinagar District Co-operative Milk Produc_gr‘s Union Lid.

C) Salem District Co~operative Milk Producer’'s Union Ltd.

D)  Srihdrikota District Co-operative Milk Producer's Union Ltd.
100. GuawiLab &L Csua@oenn L4 auG\u&@gj Q@rhsiul.L g 7

A) 1981 B) 1995°

) 1975 . D) 1957.

When was the second phase of Operation Flood stafted ?

A) 1981 : B) 1995

C) 1975 D} 1957.
101, eSMeuréeid 5@ ICMR

A)  @pdus saedlé U oy sed fers

- B)  @hdludt seycrdles i Beois Maits
C) @pdus el gy S Meiré
D) @hdluer aeayedler o CurGar rﬁér‘ré.

| (1201 ]
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103.

104.

33 DOOD

'I'CM-R stands for

A) Indian Council of Medical Reéearch
B} Indian Council of Milk Research
C) Indian Coiincil of Meat Research
)  Indian Council of Mango Research.

Gleucsoreoories gulfler oyeney .erts.er.-aler Ly ersieueney GlBés Coud@D 2

A)  1'5% B) 16_%
C) 80% D) 3%.
As per PFA standard butter should contain not more than ........... . curd.
A) 1-5% B} 16%
C) 80% D} 3%.

Sipacioisubidies Qeuctorememiics sydlawmrest Frestfl. DEOID ST & TFCIDT ! S

A) ¢ yCrmg Guehy B) SuGuen

C} 560G enen D) @ eefl.

~ Rancid flavour in butter is mainly due to

A} Protease ' B) Lipase

C) Oxidization D)  Sunlight.

Grjé&ﬁ_ auréduy, @midley el g. sriug Glestanenlley erebeuetey @lmse CeucsiHn 7
A) 26 : B) 28

c) 24 21

What is the Reichert valu‘e of ghce as per PFA standard in Chennai ?

A) 26 ’ ‘ 13} 28

C) 24 D) 2].

. : 1201; ‘ [ Turn over




DOOD
105.. Qpiies 2 mHE Qaniukhee ereer 7
A)  28°C &dlmmhg 44°C
C)  45°C e 60°C
Melting point of the ghee is
A) 28°C to 44°C
C}) 45°C to 60°C
106. greuy suems cvGi_Slees argl 7
A} Qgeslige
C) gleb.eren
The vegetable source of stabilizer is
A) Gelatin

C) GMS

107. PFA slLlug ( 1976 ) gevdiflle @opbauisd GEés Cuamgu Curds

34

B)

D)

B)

D)

B)

D}

B)

D)

S LGurmLEelle alqpder® e 2

A) 30-0

C) 36:0

. B}

D)

15°C eSimihge 28°C

- 28°C fiB g — 44°C.

15°C to 28°C e

- 28°C to -~ 44°C.

&&Brymen

Gamguid eoghlGeri_.

Sucrose

Sodium alginate.

350

*39:0.

According to PFA Rules ( 1976 ) ice cream should have the total solid per cent of

not less than

A) 30-0

C) 360

B)

D)

350

39-0. -

108. PFA slLiug ( 1976 ) gavdlfiflée evOLlowst wpmpd awaddoamuwutser

( stabilizers and emulsifiers ) ajgeat esaldlab ey LUSTURSSWFD 7

Al 30

C) 5-0

B)

D)

03

0-5.



109,

110,

111.
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According to PFA Rules, 1976 ice cream may contain stabilizers and emulsifiers

to a maximum per cent of
A) 3-0 B)y 03
C) 50 D) 05.

ISI (1964 ) elLlug gpevdlffle oguodssiu Gardllurid ursiefurssafier
( Ayrpée ) Tanafsams aater 2

A) 900 B) 90
C) 91 D) 800,

According to ISI ( 1964 )' specifications one gram of ice cream can have

maximum coliform count of
A) QQO : B) a0
C) 91 D). 800.

ISI { 1964 ) stiLing gpevdiffle svdeaiupnd ofs uls stasay yeTey

eTelieueTey 7
A 5% B) 10%
C) 15% D) 25%.

According lo ISI ( 1964 ) specifications ice cream can have maximum sucrose

conte_nl of
A). 5% B) 10%
C) 15% | D)  25%.

ISI ( 1964 ) sl oug mavdlfd seameauow abs G)euuugﬁlmsuuﬁlsu erecueney Gpyb
urenRenrGaagen Qi Geustmm(Bid 7 -

A)  71°C / 15 bl _duseir B)  68:5°C / 30 flfl_meefr
C) 76°C/ 15 Qprgset D}  77°C / 25 Giprg sefr -
According to ISI 1964 pasteurization temperature for ice cream mix ts

A}  71°C / 15 min B) 685°C / 30 min

C}- 76°C/ 15 sec D) 77°C / 25 sec.
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112, uglu@ssiul L ureremLéd slgulé { Processed cheese ) Sy@iwndisainl L
sROUSSS e S{ONE CTEHTET 7 ' '
A) 47% B} 50%
C) 10% . D) 11%. |
Processed cheese should contain moisture not more than
A) 47% | B} 50%
C) 10% | D}  11%.
113. gyengnméen Gpmile, fpeumd ahs SMen e:rram‘rﬁu@fn ?
A) g e¥seD
B) @Qupersurer 2 L& geryhsefldlnbs Grssh Qeuef Guimis o
C)  uéldidreno | ' |
D) SesCur_rod G mhsHseo.
| For anthrax which one of the following symptoms can be seen ?
A) swelling of udder
B)  blood discharge from natural openings
C) loss of appetite
D) lack of chewing.

114. @efluursainuerg g inpsdu evédlidb® ure ( Unsweetened condensed skimmed
milk ) & @ophs uleb BkHe Gadmgw Guorse SHLLCUTE sefldr  oyerey

eTeueriemey 7
A) 19% B} 18%

C) 20% o D) 21%.

The total solid content of unsweetened condensed skimmed milk should not be

less than
A} 19% B) 18%
C)  20% D) 21%.

(2001 ] '
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115. @mﬂuurréaauuLL SLiu@Esdlu urd ( Sweetened condensed milk } 2ygaiodlébslUED
_\galgg\&, e Lellingaesten erciicueney ?

A} 0:35% B) 050%
C) 060% D) 0-65%.

o ‘ _
The acidity of sweetened condensed milk should not be more than

A)  035% B) 0-50%
<) 0-60% . D) 0-65%.
116, @efluurssiu’ . Hou@sdu urelles ( Sweetened condensed milk ) &

s@udsaiu L yegrassdla ( fprapse ) aanaxfébame eedra 2

Ay O B) 10

C) 91 : D)  800.

The yeast and mould count/g of sweetened condcnsed milk should not be more
‘than '

A} 0O - BY 10

cry 9l D) 800.

117, Qerggiy  gsetuLTs 2 eips e uarfe  sewdssiu L Canrelumiip
urseflursaeiar  ( Slpruse ) aanaéaos earea 2 '

A) 90 B) 100

C) 10000 : D) 900060.
.Colifor.m count/g of whole milk powder should not exceed
A) 890 | B) 100

Cy 10000 - - D) 90000.

118. @bpgbmiga)@éaaﬁm 2 auithg 2.eoelle @rés Ceuamyu @Gts)g);ﬁig, ule  ume
W SeddleT 2yeney erebres 7
A) 10% B) 20%
C) 35% D} 45%.
Dried infant food should contain milk protein content of not less than
A)  10% ' B) 20%

e

C) 35% D) 45%.
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119. PFA sl g @bHur apepegid Ominiles SyamuvdEsiuL Qarapry Spblesdlesn
<2|GT6Y 6T 607601 ? '

A) 3-0% : BY 22% .

Cy 2% D}  1:9%.

According to PFA Rules maximum limit for free fatty acids in ghee throughout
India is

A} 3:0% B} 22%

C)  21% D) 19%.

120. ures UDSHERHEG Hevevd). et 7
A) e sena; QaTapliy @@Duﬁmneﬁl
B)  odls gere Cadld Gpuudlerme
" C) @;Q&, 26 sredlubd @miudlerme
D) ofle sera yrsh Guludlerme.
Why is milk good for teeth ?
A) High level of Fat ‘ B)  High level of Casein
C)}  High level of Calcium D)  High level of Protein.

121. Ayraiiiyg QeiuGradt weopde, urdléd Gmbs Garyuou Mg aGuug, aogl
Gurerps 7 '

A}l dlyl et elldigpenn

B) CLréedv afdlwpeon

C) Pyl e wHmibd speiievees aNdlpenn

D-) Gebnet argiabidene.

By graxﬁly Separatioﬁ method, fal is separated from milk based on
A) Newton's law B)  Stokes' law

C). Newton & Einstein law D)  None of these.

122. urevpeayCoayeies uha Oeudlaupd &@ ureddr Glet @epuug ( Hswors

@efmailiug )
A)  2eGenaumb @efli B B) 2.ei@encumd @efli e
C) QeusfGuBur@n et Hir . D) @eveu SyeaTHEID.
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The pasteurized hot outgoing milk is partially cooled by

A) incoming cold water B} incoming cold milk
C)  outgoing cold water © D) all of these.

123. urev@peorGeeganse @iLrs LweaTu@b Wwadlu &bl 2
A) mLoésG’an'G’uésterﬁwm Bun G Ceurdlev
. B) | e olg cosorm

C): QG revepugm @)Tg FrseTev

D) oL eouQursrsey LT

Index organism for pésteurlzatlon is

A) Mycobacterium tuberculosis B) Brucella

C) Leptospira interregans D) Staphylcoccus aureus.

124, Hffer Senene TP &S 2_geyd uriapeeT 2

A) CeMxIm—Is _ B} CaMxIn=Ts
.fc"‘fs ’ .fs_fc

o C-mxlzIm D) Ca=mxIsTIm
.fc_fs fs‘fr

Yield of cream is calculated by the formula

A)‘“ c_Mx..&'___._-Ii B) cﬁMxi"__fi
fc"fs fs"fc

c) CuMxds=Im D) CamxTsIm
fc"fs ) .fs‘fc

125. Qgrui 2 conpepdles HeTannaer 7
A)  ebblure gemey surgenes Slyeuwpd, shL lansver CgemeuliLiBio
B) Quidlyd aumbigashe Cewey Geney
C) 2fle geui JeaTae HEHED

D) [@ea oarggib.

(26071 ] | . [1201] [.Turn over
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| Advantages of continuous freezing method are
A) less stabilizer & flavouring material is needed
B) initial éo,stl of équipment is low
C) it .prever;ts eXcessive over-run
D)  all of these.

126. smemen seipiseie elhgam Sufiiy Celis sy afbgs geflamen 2 Husd Gauyd
spullsen Qeweldamod Qleudler Cuwi

A)  wrgeSmi B) S&iLlenu Qe Bse
C)  syeeow Cursg _ . D) smueu B&sb.

The removal of testicles of male calves or operating on the spermatic cord in

such a manner as to make the testicle unfunctional is
A) Menstruation B} Tr_anslation
C) Castration . D)  Hysterectomy.

127. uwlguwéd Ig uigue I e e sflurel Quiesdés aps GHIUNC Berer @hluGsefsr
Sguueni_ e sfiurer afleoLeowg Coiey Qews

uCigweo I ‘ UL igwey I
a) 268 2.pupS 1. mebipy retrp et |
b) Slemen 2. geouahsmen Brraldles aetdhed
¢}  BEpsEsbany shiGeHS 3. &ebip FEYSHE
d dmrfl ' 4. (s &;651"@] Feud evwg.
GG :
a b c d
A) | 3 2 4 1
B) 1 2 3 4
o 2 1 a4 3
D) 4 3 2 1
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Match List I correctly with List II and select your answer using the codes given

below :
List I List It
a) Peak production 1. Post-partum
b) Pregnancy 2. Steaming up of feed
' ¢) Retained placenta 3. Parturition
d) Heifer 4. . Age at first calving
) Codes :
a b c d
A) 2 4 1
B 1 2 3 4
C) 2 1 4 3
D 4 3 2 1.
128. fpésan cursdluiisaens et :
gapp (A) . Slenerr wrRsenen Blighs &euen HIL st Guen Geuaorio.
srgeoid (R) @ seusifleatenn sHEflagemea 2 QmLr&@D.

&Gl QanPssiulReter GHUGse ppevid &flwreor er_ous CuIbOEHes :

A) (A wpgd (R) @G sf whHmib (R) ersug (AJefiperer afures eflendsid
B) (A} wHpbd (R @iFesor@ib seum)

C)  (A)sf), yyemen (R} geugy

D) (A geupy, syenté (R) e,

Consider the following statements :

Assertion (A) : Care of the pregnant cow requires tender and careful treatment.
Reason (R) : Negligence will result in abortion. | |
Now sz_alect your answer according to the coding scheme given below :

A) Both (A) and (R} are true and (R) is the correct explanation of (A}

B} (A} and (R) are false

C) (A} is true, but (R} is false

D) (A) is ;‘alse. but (R} is true.

! Turn over
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129. &y TG ST spemeu Q.
A} sweden B)  eGymudiv
€) %@ﬁ@u@m D) 2 aiprigerd.
Ze_bq Isa....ciineninnn, milch cattle.
A) Exotic ' B) European
C)  Australian ' D) Indigenous.
130. @dlé g eflurs QurEssriuLalldme 2

131.

132.

A} ermsml e —  ustdeuer upebe

B) 2 effyé — U&@D S(HEooiDd

C)  @asCsrd — BTITE & &Gt Lﬂésaa 2 e geuerh
D) Geuby — SEIEN

Which one is incorrectly paired ?

A) Silage - Silo
B) Héy — Flowering stage
C) Straw — . Roughage

D) Neem — Grass fodder.

‘ané .g.8.8.0 peoLpen shoshs g;rr@&;et"ﬂe‘u &86OETaTeTLLL BeTeng) 2

A) %mrﬂw BT Ge el m};@m B) eCumilu prseie wl @b
C) o fu prEsefle w G | D} 2 e&b @ppeugib.

In which of the following countries is ‘HACCP' procedure accepted ?

A) Onmnly in African countries B) ‘Only in European countries
C) Only in Asian countries D)  Internationally.
BSSDG:GO:GTE_.GT@] Shig &mmsﬁ 3{@&, (LPEOMITEST JEODLIL| ?

A)  Shg Cueureioreny - B) Shos ugluTiley Qslag

C) Sheoes Geflaluug D) Saems wdldDeus.

[z001]
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Wh‘gch is a structured and formalized approach to (juantify risk ?
A) Risk management B)  Risk analysis
C) Risk communication D) Risk assessment.
133. Qeuen@piiié CorssuuGn 2 01l g,ene{;
A) 2% -2:5% | B) 35%-45%
C) 5% - 6% D) 001%-1%.
Salf is added to butter at
A) 2% to 2:5% B) 35%to45%
C)] 5%to6% D) 001% to 1%.
134. &poramd QurEs: pavdlfllar alilihgarawaou sdsiubds 2 LGursliu@Sng.
Al @Gudgauwrt B} u@pruwmg ey
C)  gevmewiT D).  siisseny.
Which is used to improve whip'ping quality of ice créam ?
A)  Emulsifier : ' B)  Probiotics
C)  Water D)  Sugar,
135. egedlis Welld ereurdICrl é@ CoomaniLfsug
A} GODHD SHDS " Bl sifle oubpe
C)  yhné Cosmanin g D) faé Gonbs DD,
The rising film evaporators require
A}_ less energy B)  more energy
C) no energy - ] D)  very less energy.
136. Geaugalb urr&smg@&&é‘rr (PED 6THS urrsb@urr@@&@—uwsﬁru@ggau@eﬂs&rw@ ?
A) Gameur B) sdenm |

C) urd/dfho D) GeustorGieotiy,
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Vacuum pasteurization is a method of pasteurization for
A) Khoa B) Chhana
C} Milk/cream - | D)  Butter.
137. aré.1q erevig peoplles Gaematiu@bd SPSHsD ereiloueTsy ?
A) urenBLeogsH urew — 15 psi
B) urreh)@;mn;r&@ urer — 20 psi-
C) ursh(L_eny&{H Ured ~—‘10 psi
D)  urev(Lenge® urer — 40 psi.
The normal pressure mainfained in the HTST system is
A) Pasteurized milk — 15 psi
B) Pasteurized milk — 20 psi
C) Pasteurized milk — 10 psi
D) Pasteurized milk — 40 .psi.
138. gevdifid 2 emeushamer Eaﬂ’G\JL't.) SpaetoLeubdies erhg sryeosileow QuUTNESS 2
A)  Ofler-ér cuems whHmd qg:@ 2_(heurdlw allsn |
B) @L_.EFF'I'—@'ST Geusid
C) saomanlar @eomb
D) @ b .
Factors influencing freezing time of ice cream are
A) type and make of freezer B)  speed of dasher
C) character of mixer | D)  All of these.
139. s emeups LTeNedt s_sm[.pﬂgme\: STESTENT 7
A) + 14;9°C ‘ B) - 14-9°C

C) 20°C _ D) -30°C.

-



Freezing point of condensed milk is
A} +14.9°C

C) 20°C

140. Fiu@sgger e@dug uree dSuGsSOe

Clegyps L@Hng 7
A)  Qarlienu e LiusHE

B) ' yrsses 2 el lugh®

C} . ewmr&GLmev wHND YTsHens 2 L LusnE

D) - Qeupnet ergeficane.

45

B)

D)

-14-9°C
- 30°C.

spsaoi.  ebs

DOOD

BT SSDET &

Homogenization is the process of forcing the milk through a homogenizer with

the object of sub-dividing
A)  fat globules’

C} - lactose and protein

B)

D)

protein molecules

none of these.

141. ‘apé.g. 880 asgmean edu ibsherer ugLLTLe Oeldpg 7

A) 9

cy 7

B)

D)

10

6.

How rnany principles are there in HACCP analysis ?

A) 9

cy 7

B)

D)

10

6.

142. ‘ané.g .4 .80)" aps priiger wpaedle Qer RslulL g 2

A @bdun
C) @udflarks

B)

D)

Which country is the origin of HACCP ?

A) India

C) England

B)

D)

Ayresreiy

SiCwf&esr.

France

America.

[ Turn over
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143.

144,

145,

146.

ané g .4.6.19 Aev_gdde abs elgworer gniGepaon Cgameat 2

A)  LOFDD STUGSLOD B) el LG SHTGHPOD
C) UlpspdGusibret RGP D)  Qumrgleures SRS OD.
Which type of approach is required for the HACCP éystem ? |

A) Multidisciplmary approach . B)  Single man's approach
C)  Special approach D)  General approach.

umé QurgLse elipuener GQebeaudldr 2 pfhumer Hlenetium’ enL weHw wHMD wrble

DI & &N SEPHHEBIL. THT PevLd Qeremiggieiene 2
A)  Garlédu sieflioat@Lfludy B}  umé whmyd ure QUITBL s 4T
C} L“& Tl D) Ul.ersoly .

Which one of the following is related with the mandatory provisions in the
Central and State Government’s order for dairy establishments, in India ?

A) Codex Alimentarius B)  Milk and Milk Products Order
C) BIS D) PFA,

@hdlwraller 2 aorey FelILL ool FLLD ahS %GO‘G[@ SOOUPSHLILL &I 7

A) 1954 - | B) 1964

c) 1974 | D) 1984.

When was the Prevention of Food and Adulteration Act passed in India’ ?

A) 1954 B) 1964

C} 1974 D) 1984.

Qarpliy BESULLTDS (PUEUSIDTS 2 66T UTE Lol (&6 b uTsel Hnbss 7
A) 2 Gers Giuig Hefr | B) &@GWWLq. UL g 6

C)  gedn | D} Guiit.

Which is the most suitabl;: package for whole milk powder ?

A) Metal boxes B} Glass bottle

C) Tins D}  Paper.
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147, umév 2. pusHiler el sudlé@n Br® eg ?
A Syraen B) Ggive
C) Qf_‘sisrmrrr'ré, : D) @gsed.
Whicl-) country is the highest producer of milk ?
A) France | B) Germany
C). Denmark | D) [lialy.

148, g,c&urggufrﬂs&r sgarss@an 150 ~ 300 Jufead @obsre s eeuaurm

U SUILHS T 7
A)  Apseurars B)‘ Mg &g esrnme g
C} esyaworag D) Bead syewrarg.
How will you classﬁy the water having hardness 150 - 300 ppm ?
A) Soft B) Moderately hard |
C) Hard ' D) Very hard. |
149. g .eren g .- Goupy Quwit eretent 7
A Sgee. B) obwomié
C) esu.g | D) Lleiy 5.6,
What is the other name for I1SI ?
A) . BIS | B) Agmark
©) IS0 D) WTO.
150. g 060, erpemwiimedler 2 siron emeu Libistt A b1 yemey LU. &
A} E 540 B) 240
C) 140 D)  340.
Vitamin A content of the Buffalo milk in L.U. per mlis..
A) 540 : B) - 240

C) 140 D) 340.
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151. a(pasQ@arareriusL wréfl semallome a@HGOOLTES BETE Ha&d TRUUEST®

S eererrerenereniens FLWLTS SOILSDG FaeuTSlDg.
A Qargyiy . , B) em&GLmev
C) ST D} &npp.

- Mixing of the sample should be done for even distribution of
A) fat B) lactose
C) minerals D)  alr.

152. mngolt ufiCasrgpameansans a__cofrlj,g,r ( num[bgﬁ LT &0 LIS);I_I’F ) umenes wIHF aGHED
Curgl @eDhe L&D aeusuerey arR&siuL. Couam@id ?

A) 110 &gmd ' B) 120 &igmid
C) 140 &y D) 100 &y,

What is the minimal sample size of dried milk that should be taken for
microbiological analysis ? '

A) . 1l0g " B) 120g
C) 140 g , D} 100¢g.

153. &paaor. Cuduurpersdle g urd wrdflou LELLEEES L.IUJG&TUL..FI'-QJ. 25
g 7
A} unfwoedes B) G

C)  eoueCrrGunt ool QuIrL.L e D) &>CBi;rrrsr616$J apeﬂ(ﬁm&.

Which one of the following chemicals is not used to preserve milk for sampling ?
A) ~ Formalin | B)  Acetone

C) Bichromate of potash D)  Corrosive sublimate.

154. wrdfl e@he 2 LGUTHELILESSL LUSTURD Ghaaumu &TTeH JeLluTe Clares @
DL G&HE Gnl TH, G FebT ? ’

A) wrdfdé @mha Gareieu 2 Higyeb
B) mrr@rﬂuﬂeb B\BbHE Lissaoms 2 Blghad
Q) wrdfldie Qmha ersGLramen 2 Mighab

D) wrdfldé Qeba Hrssmsyb aréaGIramenyd 2 Hlgsb.

- [1201]
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Why is cork stopper undesirable for closing the sample container ?
A)  Absorb fat from the sample

B) Absorb protein from the sample .

C) Absorb lactose from the sample

D) Absorb ﬁrotein and lactose from the sample.

155. Gy svwgdles oul owdr, 2.pusd Gerly, urgerseb Osmiy Gurerp
| Guselé odier wrdf Lereladie Eobe LR cO&s, Epecnl ahs i
THEGD (pevm 2 UHSSILEHDE ?
A) - Gy G[F)I"ré:@;ﬁiﬂ'@_ gpeopuley wrdfl arGgse
B) sreundl paopdld vrdfl a@sse |
C)  uekiyser suglival weopdle wrlfl a@Ese
D)  Cusls weonde wrdfl eRsse.
Which one of the sampling systems involves simultaneous collection of Samples
at various sampling points from pipeline, production'tanks and str;rage tanks ?
A) In-line sampling — B)  Automatic sampling
C)  Attribute sampling | D} .Mckay sgmpling.
156. &pacii. Qurpele abs Qurgst QeauwnGeoi wrdlfl Ceaflssh GE@uOW
L. &5 Sphesg 7 |
A) b Bugw BTSHEND  B)  ofpsss emqu srgend
C) wgenyum - D) @pmi.
Which instrument is used to secure a sample of butter for examination ?
A) | Dipper | : B) ‘ Plunger
C)  Trier _ D) Tube.
157. alQurups @hdHu urd Qarfiberare weom wrHY HOLHSEILL G 7
A) 1992 o B) 1994
C) 1é91 , ' D) 2002.
| - [ Turn over |
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158.

159.

160.

When was the Indian Dairy Industry deregularised ?
A) 1992 ' ' B) 1994
C) 1991 D) 2002,

shgs Fpeuetddler qpeod GhFlun LT QUIBLSST 2.6 arssssdle Gurig
Bur@b Hleawdg 2 Wirhsd 7 |

A) 2 @6 GeTeNy Hipeuerd B) 2 @& aui$ss emwbwib
C) 2 a8 uUisss Binausrd D) 2 &8 2L $LL&HOS b,

What was the organlsatioﬁ that made Indian" dairy products compete in world

trade ?

A} Worl_d Health Organisation B} World Trade Centre

C) World Trade Organisation D} Worlq Treaty Organisation.
NDRI -6 2_Geursstul.L ol Gersdedr Quur 2

A)  aremaaiey B) &mmns&rﬁeoﬂ

C) smiurtsi ' D} @)rr;'\mimesh—ﬁrﬂﬂu.ls&r.

The breed of cattle developed at NDRI Karnal is

A) Karan Swiss B) Sunandini

C) Tharparker _ D)  Holstein-Friesian.

pggdlT LGsTgmabaTs o duan 2 &by meveoe wrdfl a@seb Curg

ahsGeutlameaie Callsg emeuss Coucor@ib 2
A) - 18°C gidvevg 2iBHGD SGY B} 10°C
C) 5°C ' - D) 7°C.

What is the storage temperature of samples from edible ices that should be

taken for microbiological analysis ?
A) - 18°C or lower B} . 10°C~

C) 5°C : D)y 7°C.

=)
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161. pangudi ufiGsrsomeabsrar Cpri miCmbhsT sPésiuLrg ureve T
aRs@Dd Curg abhs Qaviulaada Callss s Grmm(n »
A) 8°C B} 0-4°C
C} 10°C D) 35°C.
. What is the storage temperature of non-sterilized milk sample that should be
taken for microbiological analysis ?
! A) 8°C o B) 0-4°C
c) -10°C : D) 35°C.
162. mcngmuiht uflGergenarsans QuuctorQiaonn wrdfl st Curs GoODHS L&D
sTelcueney eT(H&a L. Geuetor(Hid 7 '
A) 110 &g B) 100 &lymid
C} 50 dlgmp D) 90 dlgrb.
- ¢!
What. is the minimal sample size of butter that should be taken for
a0 microbiological analysis ?
A) 110g B) 100g
C} 50¢g D) 90g.
163. meorggua uflGsrpamearsars Apsaiurg Liurdseiie, o eier Crpmil metin BHeD
Qelwiule urellér Bmhe surfldain’ L Syes urd Qurkeraameér wrdfl a@sen
Burg GoODHSLL D aeuaieTey arHbaliL Qeuar®on
A) 251560, oyevevg Epmid B} 60 dl.&d. dveug dlgrbd
C) 80860 evag Aymid | D) 100 8.6, sevay dyrod.
What is the minimal sample size of sterilized liquid milk products in unopened
containers that should be taken for microbiological analysis ?
A) 25mlorg . B) 60mlorg
Ci 80mlorg Dy 100mlorg.
LF 5_8_5‘ [2001] , ‘ | Turn over
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164.

165.

166.

167,

qug;nth sevorL wirl el urellelr leraL Ggdmeit

A) flawTed - B) @eopyb
C) egmiGLl Dj Seuriy.
Electrical conductivjty of mastitic milk is

A) increased , ) = B) decreased

C) diluted ' D) red.

UBLILGSSILL L LTedéd SyiTey erevor
A) ambésluLrg ureneall Genpaure g
B) esmbéstuLng ureeall. Siflawrearig

C) anbdsluLag uTee HESHH

D) Asedfu Ceaupir®-

| The 'spéclﬂ'c gravity of pasteurized milk is significantly

A)  lower than raw milk B)  higher than raw milk
C) equal to raw milk - . D} negligible effect.
ureleén Sy ire) earsorana EyralGol & Weon CeTand SEeneed smal

A) emsGLmilLf _ B) pHudCos

0  eousklamslLir _ D) BeCer@evLi.

The Instrument used to determine the specific gravity of milk by measuring the
weight of a known volume by gravimetric method is

A)  Lactometer ‘ B) = pH meter
C) Pycnometer : . D) Milkotester.
ursefluréadisr aanafsmaamu SPC wapiids s Pw gHp Geluss Grur®

A) 32°C £ 1°C - B) 25°Czx1°C

©C)  40°C % 1°C D) 10°C = 1°C.
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The desired incubation temperature for detecting bacterial count in milk using

SPC is
‘A) 32°C + 1°C B} 25°C + 1°C
C)  40°Cx1°C D) 10°C ¢ I°C.
Y 168. SPC (peomille) ol LBsL L 5onigd 2_(peumes LT befur G OlpLLseeT 6 ctor e
2 poyeug |
> A} eowsGrreuGar . B) #0wé srexfaaet
C) dleogGurev@anry D}  eusGammiSLr.

In SPC, after incubation of milk sample the colonies on the petriplates are

counted using
A) Microscope - B)  Quebec colony counter
C) Cryoscope D} Pycnometer.

169. urdlles vsemerest  Lmeul GLev @@&@—m' Curg p-oplCrrilame L

Berfgusdevear Cairbeio Curg og Geuefll b 7
A)  p-eowp Gomillenmen , B) Quesrsméigeman(
C) Sleamedls spblevid- _ D) eplfé spdlevih.

The substahce liberated when p-nitrophenyl disodium orthophosphate is added
to milk containing alkaline phosphatase is

A) . p-nitrophenol B) Benzaldehyde
-

C)  Phenolic acid D)  Nitric acid.
h 170. yiflurenes urelley seiuLD Qedws &y e

A sbleggenran 2 moamumas sHés
B) Qarguller % $o08 Gonss

€l geiupssianou FeLGLS

Di | Qmw{alg,g S G Benar Qél@srﬂésas.

' * ¢ [A201] | [ Turn over. -
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_ Urea is added as an adulteraﬁt in milk to
A) prevent acidification
B) decrease fat %
C) improve keeping ‘quality
D) boost the total solids in mitk.
171. sadlyfe oufled Qatur Garaply Gergeanenid
A) sflwliQurEl el &HEH0 B) Gadlen afpugeursd
C)  Qareoy Sfge . . | D) GesGLmev affpLigeirge.

Sulphuric acid in Gerber's milk fat test causes

A) - charring of organic matter B) casein precipitation

C) fat separation D) lactose precipitation.
172, GourdaL o L{G!beGOUTTré&@'.....; .............. 58 Hebhss:.

A)  ypsi B) Qaraiy.

C) g&d : D) seallwiiser.

Groundnut cake is a .........oocireienees source.

A) Protein B) Fat

C) ' Energy D) | Minerals.

173. urrd)’ump &t uHB Spargmib amppseid aame sfurarg 2 -
| I Lré wig HFOS euflure urd &r&dng.
. uré g &l o6 BysCuswnrer Cgren syins.
. g el @ ugdlener 2 eren_&dlllmésdng.
V. g smby Qariy sgodls Qariyeow wgde sgde spdading.

V.  elefliby euriiserd ( v fasard) wesayuiiildar spm s,

Blevppierr
A) Qoo Seisgid 0 B) I Nwpgd N sflurareney
C) I, Hlwppo V sflurereneu D) LIL IVupgo V sfluraree.

2001 | L - [1201}
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‘Which of the following statements regarding mammary glands are correct ?

CLL Milk is secreted in the mammary gland.

II. Mammary giands are specialized skin glands.

HI. Udder has 8 quarters.

Yl

"IV. The teat cistern joins the gland cistern at the base of the udder.

V. Streak canal is a part of mammary gland.

Qf these
A}  All are correct

C} I Il and V are correct

B) I, I and Il are correct

D) I, II, IV and V are correct.

174, ulqwe I e utgué Il o & sflurel Quresds &ps eiulGerer @oll@eefle

- uliguweén I
a) = e(mBemD
b)  wERef

c) LTS &D&EGDL D

-d) GO (PIHV HENG CUIY
' elipssr :
. a b c d

Ay 4 2 1 3
B) 4 3 1 2
c 2 1 3 4

D) 3 4 1 2.

i .

S tue e sflurea alaows Carey Gals :

(BIMAT-RTT-N |
1. &&B0Te UTe 2. DuGS!
2. Q&L

3. geuambd

4. Gaphlés yrEnse.

[ Turn 6ver
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Match List I correctly with List II and select your answer using the codes given

below :
List I | List 11
a) Buffaloes - 1. Clean milk production
b) Manger 2. Housing
c) Milking machine ' 3. Feed
d) Head to head | 4. Wailowtng
Codes :

a b c d
Ay 4 2 1. 3
Bl 4 3 1. 2
o 2. 1 3 4
Dy 3 a4 1 2

175. @dlé ergy sflurs G\urr@gig,uun.'_qﬂd)smas ?

A} Gsmonf Gmmis — soeue QGmbmy
B) MemLi Quevl. — Qareiener Cpmd
C) g Grml : — urer 2 pusdl afley
D) ynp@saGeradd . - HEME (Brj;rnh..

Which of the following is incorrectly paired ?

A) Foot and mouth — Viral infection

B) Rinderpest _ — - Cattle plague

C} - Mastitis R Reduction in milk yield
D) | Brucellosis — Mugcie infection.

' ey
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176. ulguwé I uigwd I 21 sflured Quresds Eps NI et GHIGaefidr
Sigtiveor e sflurer aflar_ewg Caiey Qads :

uciqwe I uligue I
al  e@leu Qe 1. Qgrlyer g:sum;;b
b m}@{b}g;%ﬂzﬂmb | 2. seny FEUsS
: S Qeriyer Gpmi 3. sifls rev  Gurliges anmtGuomes
. &y
) d) Bé&&EQOETY SRESS 4. Sibureflgev.
@gﬂuf@a;s%r : |
a b e’ d.
A) 1 2 3 h 4
B) 3 4 1 2
Cy ‘3 4 2 1

D)y 4 2 1 3. -

. Match List I correctly with List II and select your answer using the codes given
below :
List I List I1
a) Prolapse of uterus 1.  Umbilical ope'ntng
b) Bloat | 2.  Parturition
¢) Navel ill 3. Excessive oestrogen production
' d) Retained placenta 4. Tymphanitis..
Codes : A o
* a b c d
A) 1 | 2 3 4
B) 3 4 1 2
C) 3. 4 2 H
D) 4 2 1 3.
_ : | ' [ Turn over
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177. aﬁ’@&as&ml_ euTdbSukisneTs: &euet
&n.lj)@ (A} ;g e 2 meud QETEbiL amHeow WITH.
&,m]aamﬁ (R} : epflurerr, Qo6 Ligemile siflsh araiuSing.
£Cp Qar@sstiul Qerer GHiGeasf @émb sflurer efloLows Carhbs@es -
A) {(A) whpid (R) Gy nHid aifl, Guepd (R} erestugy (A} el eflures aflenean
B)  (A) &fl vpoubd (R) Beumy
C) (A) seupy yeire (R) aifl
Dy (A wgb;mtn (R) @\yeoor(®id Beum).
Consider the following statements :
Assertion (A) : Murrah is a small sized animal. |
Reason (R} : Home tract 'ls' D\elhi.. Haryéna. Punjab.
Now select your answer according to the coding scheme given below :
A) Both {A) and (R) are true and (R) is the correct explanation of (A}
B) (A) is true, but (R) is false
C} (A} is false, but (R) is true
D)  Both (A) and (R) are false.
178. elfleurée g.0%. (AV )
A Qsupes Curedéepi
B) Qeupens eNéigm
C)  Gurelégpmi cﬁér;aio |
D) Curell afssim.
AV stands for
A) Artificial vagina B)  Artificial ‘viscera

C)  Acute vaginitis _ ' D)  Acute vulvitis.
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179. a_sfr EareCarsemallen ..ovvoninnnnnn wrgenr GersalBib.
A) @ng@lfb sbuppbleoang wr@ast B)  Hdgerey sbubspeien wrHser
C]‘_ Couppy @estiie e D) Opmpadu Qerhgwrer G waer.
In-breeding covers mating of ................. animals,
A)  totally unrelated B) less closely related
C)  different breéds of D) closely related.
180. aVfleuréd@ Lig 1q eretr ( TDN ) |
Al Gl é e gev el By Pwest ey
B) . el Grut en geuiflel flyl Pwesr e
C)- - @uiburfled emgervr e Bl et e .
‘D)-‘ - O eir@i_L g eliedl ent_gpeut el By flwest ev.
TDN stands for |
A)  Total Digestible Nutrients B}  Titrated Digestible Nutrients
C)  Temporarily Digestible Nutrients D)  Tentatively Digéstible Nutrients.
181. @& ag aflure QuTBHSILLSldane ?
A) e.rra'ué]ﬁ.ub — T WHNHID L 2_(HEUT &S
B) Gsmguwbd — BEOE G (HhIGHSHH
C)  esmint — @ LGk &8 D
D)  umeuurey —_ 68 Garens.
Which of the following is incorrect pair ?
A)  Calcium — Bone and teeth formation
B) éSodium — Muscle contraction
C) .Copper —_ Reproduction
D) ..Phosphorus : —_— Anemia..

( Turn over
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182, .. Buasler LEBSaeTD, ST Seueid, grrg; 2 (sl el fens el
HEVEEUILIT GH(D. '
A puovweLwurs B) sw&dgpp
C) poLWoDsHGSHS D) @popemwwen.

..................... ration is a normal ration where forages, concentrates, minerals
and vitamins are blended together.

A)  Incomplete | - - B) Unbalanced

C) Practica] D) Complete.

 183. d\mm@mmmp@]m &rﬂmrrcw Bam 6Tl 7

L &am@j&@l_.q.mw @eflit hHyid Gmuug@aﬂ@gg Frée GouctorBi

. & @LLsE@hse G er,rrmggggleo sflures LGS SewéHs oD
.  seTmy weior 2_GioT GTTTLDG G\wLgHE eumldléy euemer &L GeussorHid

IV. &eTQsEhed@ S DIDTHD - 6ueny vy BTLEE@HHS GUHWPED
G B&sD Qeiu Geuan@i

V. Ulnps episahée Geuhansd smal e Geiiu Couca@i.

Gleupuyet
A) LI, I wpoid V eflurerere B) Sarsgid sflurarame
C) L Nwopod Vefureree - D) LI, Mwbyd IV eflurarena.

Consider the following statements :
L Calves have to be protected against heat and cold.

II.  Calves should be provided good bedding during winter whenever
necessary. : )

1. Mouth net is to be used to prevent calves eating mud.
IV. Regular deworming once a fortnight up to 6 months:

V.  Artificial insemination is to be carried out in newborn calf.

Of these
A) I, II, IIT and V are true B) All of these are true
C) I, Il and V are true - D} L 11, Il and IV are true.

| -
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e oauQurGet sl sOUY slLgddrg ( 1976 ) sblpmprigd usburedld
Bimés Geummqu Qamwly sddler Sene) aeie 1

A) 35 " B) 40
C) 45 o D) 590.

According to PFA Rules 1976 what should be the fat percentage of cow milk in

Tamil Nadu ?
A) 35 o B) 4-0

C) 45 ‘ | D) 50

eamaiblurgeT saLUL sOUY sLLSfldtuy ( 1976 ) sipprigé toned umelie

BB&e Geuaiqu Clarapln] 84l Serey erese
A) 50 B) 40

cl 30 D) 25.

According to PFA Rules 1976 what should be the fat percentage of toned milk in

Ta;riﬂ' Nadu ?
A) 50 ‘ B) 40
c) 30 D) 2-5.

metﬁun@ﬁ seluL QLY sl ( 1976 ) glfippTigés double toned
urellés @méa Ceucdmguw SNF e ey eTedrent ?

A 7 ' " B) 8
C) 9 D) 10.

According to PFA Rules ( 1976 ) what should be the SNF percentage of double

toned milk in Tamil Nadu ?

?.
A) 7 ' \ B) 8

c) 9 | D) 10.

E (1201} " { Turn over
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187. ursQelgde yeoLdsurL  Pasteurized urelles  owdlésiurL GQuwrss

ursefiur&sefledr amanlisens ( SPC/ml ) eredrest 7
A) 25000 B) 30000
C) 35000 D) 37000.

SPC/ml of the pasteurized milk at the plant in its flnal container should not

exceed
A)- 25000 B) 30000
C) 35000 ' D) 37000.

188. Qeuanemiiléd e ulsd sgpHeaiul L FUusSHledr yeney adrer 7
A) 16 B) 17
C) 18 Di 19,
Maximum moisture per‘cent that can be present in butter is
A) 16 B) 17
Cy . 18 D). 19,

189. Flavoured drink & @eoDhs uLe eTe @)H&Hs Caucmmgw Qerapll sl jemey

GTEBTEnT 7
A) 4-5% . B) 35%
C) 2% . D) 1-5%.

Minlﬁmm legal limit for fat per cent in flavoured drink is

A 45% B) 35%

C) 2% : D)  1-5%.
190. gevdlfenn ercucueney erab Gslls omaussamrd 2

A) 3 -4 curgrigen B) 1-2eunghses

C) 5 - 6 surlser - D) 9 - 10 curghuser,

|
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Ice cream may be stored for a period of

A) 3 - 4 weeks B) 1-2 weeks
C) 5-6 weeks D)  9-10 weeks.
191. aphs Oprdllemre ure Qurilsdild Qs @uCure srcts'm@cwfm Gurettp Okl
apSng 7 |
A) L.[(ngITL.'...lS}.(g'uJGfU ' B) umeuuGLew
C)  eaGuey D) e
Rancid flavour iri milk products is due to which of the foll'owing.enzymes ?
A) Protease é) Phosphatase
| C) Lipase : D) Amylase.
192. aﬁTsnrrs?uqrﬂLq.uJLbA
A)  srhde sGHEHEE 2 Husbd Qalyd urdefur \
B) smhilé s@&s0 2 pusdl Gelwrg urdeflur
C)  arHp Gerers GRdld snHesmH 2 hudd Cedyd urdefior
D} srhHm Geans Gpeld sE&emE 2 Dupd Ceiurg urseflur.
Clostridium is
A) an aerobic spore former - B)  an aerobic non-spore former
C) an anaerobic spore ‘fonm‘er D) an anaerobic non-spore former.
193. sva)f_e‘muG’surrasrr&'assﬁJ_%fﬂwsfu urdefliureller gyemli rGenang 7
A)  sufled Gureing B)  pretdlad semwiy
C)  dgrlens Qarss GuTaTDE " D) &wr augeub.
The typical arrangement of cells in Staphylococcus aureus is like
A) chain like appearance B} tetrads
C} . bunch of grapes | D) comma shaped.
{2001] [ Turn over
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194,

195,

Wlebreu(s euest supiiiée q;ué(‘égrrfj)ps?mg;é. Qaram® ahp ponguiflsame Curgars '

SELWTEND HTIRNGTD ?
A) unsediur ' B) uréefGururg
C)  wmel ' D}  Gumél (yehans ).

Which of the following can be identified based mainly on-their morphological

characters ?
A} Bacteria B) Bacteriophage
C) | Yeast ' D) Mouids.
afgmrr@uu.@su@m uré LgediGd Ypse sGbouTn aiflaetiu@Gsseyb -
L gleués GeutitGuhnises
1L USRS SIS
NI, uglu@psese
V. eaugasl (g,
A) LI 1L IV ' B) v, I, I, 1

C) LIV, 1L 11 D) L IOL IV, IL

_ Arrange the following items as per sequence ln'thé process of pasteurization of

tnilk :

L Preheating

II. Packaging

II'I. Pasteurization

IV, Filtration.
A 1IL 0L IV B). IV,ULILI
C  LIvILu | | D) LILW.IL
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196. el g ensCrravGaris &.qs&ri‘. eopdléd pamgmiliflaciesr sereneu ifemrdiée

2 geyb. smusOLITH e

A) By Cuedt srwLLIUTESN

B) dlgrhd smwiGummer

‘C)‘ . arsGLTllenmés sl e Lgh smuliQlu et
D)  glbsn &rru.r&@uﬁ@sﬁ.

The stain used in direct microscopic count in estimation of bacterial load in milk

is
A) Newman's stain B} Gram's stain
C)  Lactophenol cotton blue stain D} - Giemsa stain.

197. urés HpID urer QuITEGLaeild 2 eren @BLTwTaTTealle Heitemio

A} DPgorer QeuiugHleé euemid B) Qi Curlleiis
C), | Qg Cuor@lls D) eeCamarmis. -
- Pseudomonas organisms in milk and milk products are mostly ............ s in
ﬁature. '
A) "Mesophlllc. . *B)  Thermophilic
‘C)  Themoduric 7 D)  Psychrotrophic.

198. g3y eSguwrar 2_aome 2 &G QAT Sdes SPHeb CopulL wellsiEEsée
- 8y aflgorer Cprl sfledieer CaramleanTd 25 aeieurn e P&sLLHD 7

cA) efleBluregd) B) a&myeh
C)  Gmmi flepeay D) soLssTLLUnS wpeD.

An incident in which two or more persons experience a similar illness after

ingestion of a common food is known as

A) Epidemiology B)  Etiology
C)  Outbreak D) Immunoclogy.
: S ' Turn over
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199. dpsacmuzcupiles g yfleres CefdsitilL. urée sdubsLLlL  Cpmiseiie

SLBETG 2

A)  faveflur CorGearrens GLrgfeiay
B)  Guideflur ereing GymCamenevg sir
C) w#Gemerev O 157 : H7
D) aluflCur CoreCy.
Which of the following is not considered as an emerging pathogen‘?
A)  Listera monocytogénes ' B)  Yersinia enterocolitica
C) E.c;)!i O 157 rH7 . D)  Vibrio cholerae.

200. sellen LTaTeLé Sy aHeMd H6ET CUTEHID SHEMDLIEL 2 (HEUTHELD i gpiuifl
A) Lﬂrfaﬂunémrﬁw&)‘ @&t B)  Qerfleflurdiedlub @erd
C) . JJICmAGumref] L{Uét_erﬂu.b @\eorid D) Qe CLmuméit Georh.
The bacteria responsible for eye forr‘natlon in Swiss cheese 13
A) Brevibactertum sp. B) Corynebacterium sp.

C}  Propiontbacterium sp. D)  Acinetobacter sp.

»
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L ' Register
Number

2011
DAIRYING (.D VI AN LA

Time Allowed : 3 Hours ] i Maximum Marks : 300

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Booklet has a cover { this page ) which should not be opened till the invigilator gives signal to »
open it at the commencement of the examination. As soon as the signal is recetved you should tear
the right side of the bodklet cover carefully to open the booklet. Then proceed to answer the
guestions,

2. This Question Booklet contains 200 queétlons.
Answer all questions, All questions carry equal marks.

4. You must write your Register Number in the space provided on the top rlght side of this page. Do
not write anything else on the Question Booklet.

5. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

8. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen ~
In the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to }
encode the above information, your Answer Sheet will not be evaluated.

[T )

7. Each question comprises four responses (A}, {B), (C) and (D). You are to select ONLY ONE correct
regponse and mark in your Answer Sheet. In case you feel that there are more than one correct
response. mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depehd on the number of correct responses marked by you
in the Answer Sheet.

8. In the Answer Sheet there are four brackets | A} [ B || C | and | D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your chotce for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows :

, (A1 IC]ID]

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take H
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination,
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

)

10.  Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

11.  In all matters and in cases of doubt. the English Version is final.

12. Do not tick-mark or mark the answers in the Question Booklet.
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